
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

COORDINATE GEOMETRY

Others

1. The three vertices of a parallelogram taken in order are


 respectively. Find the coordinates of the fourth

vertex.

Watch Video Solution

−1, 0), (3, 1)and(2, 2)

2. Determine the ratio in which the line  divides the

segment joining the points (1,3) and (2,7) : (A) 1:2 (B) 2:3 (C) 3:4 (D) 4:5

3x + y − 9 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dmL05sYPF6py
https://dl.doubtnut.com/l/_qsij2w42Zyhw


Watch Video Solution

3. The coordinates of one end point of a diameter of a circle are 

and the coordinates of the centre of the circle are 
 . Find the

coordinates of the other end of the diameter.

Watch Video Solution

(4, − 1)

(1, − 3)

4. If 
 are the vertices of triangle

ABC, find the length of median through A and
 the coordinates of the

centroid.

Watch Video Solution

A(5, − 1), B( − 3, − 2)and( − 1, 8)

5. Of  and 
 are the vertices of a

parallelogram, find the values of  and .

Watch Video Solution

A( − 2, − 1), B(a, 0), C(4, b) D(1, 2)

a b

https://dl.doubtnut.com/l/_qsij2w42Zyhw
https://dl.doubtnut.com/l/_EWb72YiAU7Pm
https://dl.doubtnut.com/l/_Ah2WisKDRJ6j
https://dl.doubtnut.com/l/_czgOMr0OWEvI


6. if the coordinates of the mid points of the Sides of a triangle are

 and .Find the coordinates of its vertices `:

Watch Video Solution

(1, 2), (0, − 1) (2, − 1)

7. 
 are two vertices of a triangle ABC whose

centroid G has the coordinates
 
Find the coordinates of the

third vertex C of the triangle.

Watch Video Solution

A(3, 2)andB( − 2, 1)

( , − ).
5

3

1

3

8. Prove that the area of triangle whose vertices are


is independent of 

Watch Video Solution

(t, t − 2), (t + 2, t + 2)andt + 3, t) t.

https://dl.doubtnut.com/l/_9z5CWfRVRCz8
https://dl.doubtnut.com/l/_DGKoI8MGdU6D
https://dl.doubtnut.com/l/_4I9Ags6X03bQ


9. For what value of k are the points


are collinear?

Watch Video Solution

(k, 2 − 2k)( − k + 1, 2k)and( − 4 − k, 6 − 2k)

10. If the points 
 in this order divide the line

segment joining 
in 5 equal parts, find 

Watch Video Solution

P , Q(x, 7), R, S(6, y)

A(2, p)andB(7, 10) x, yandp.

11. If 
 are the vertices of a triangle,

then the lengthof the median through
vertex 
is.

Watch Video Solution

A(2, 2), B( − 4, − 4)andC(5, − 8)

C

12. The midpoint P of the line segment joining the points A(-10, 4) and

B(-2, 0) lies on the line segment joining the points C(-9, -4) and D(-4, y).

https://dl.doubtnut.com/l/_21qVeKsERN9L
https://dl.doubtnut.com/l/_VAAyIHXn5Yfb
https://dl.doubtnut.com/l/_yBPU9zkIlpVB
https://dl.doubtnut.com/l/_XrtwpsF7nWQf


Find the ratio in which P divides CD. Also find the value of y.

Watch Video Solution

13. If 
 is a point on the line segment joining the points 


then prove that 

Watch Video Solution

R(x, y)

P (a, b)andQ(b, a), x + y = a + b

14. If the points 
 are collinear and 


find the values of  and 

Watch Video Solution

A( − 1, − 4), B(b, c)andC(5, − 1)

2b + c = 4, b c

15. The perimeter of a triangle with vertices 
 is



(b) 
(c) 
(d) 

Watch Video Solution

(0, 4)and(0, 0)and(3, 0)

7 + √5 5 10 12

https://dl.doubtnut.com/l/_XrtwpsF7nWQf
https://dl.doubtnut.com/l/_VPLaPYrAO4VB
https://dl.doubtnut.com/l/_Nr75o4WfXGM6
https://dl.doubtnut.com/l/_OJB4FJO1nIEt
https://dl.doubtnut.com/l/_yc9DewFjkWGU


16. A point 
 divides the line segment joining the points 


 such that 
 If 
 lies on the line 


then find the value of 

Watch Video Solution

P

A(3, − 5)andB( − 4, 8) = .
AP

PB

k

1
P

x + y = 0, k.

17. If G be the centroid of a triangle ABC, prove that,

Watch Video Solution

AB2 + BC 2 + CA2 = 3(GA2 + GB2 + GC 2)

18. If 
are the vertices of

a quadrilateral ABCD find its area.

Watch Video Solution

A( − 3, 5), B( − 2, − 7), C(1, − 8)andD(6, 3)

https://dl.doubtnut.com/l/_yc9DewFjkWGU
https://dl.doubtnut.com/l/_bxDcql0NX5zC
https://dl.doubtnut.com/l/_WtzcSe9lFMtk


19. If the area of 
 formed by 
 is 6 squae

units, then prove that 

Watch Video Solution

ABC A(x, y), B(1, 2)andC(2, 1)

x + y = 15

20. Show that the points 
and 
are the

vertices of an equilateral triangle. Also, find its area.

Watch Video Solution

(a, a), ( − a, − a) ( − √3a, √3a)

21. The x-coordinate of a point P is twice its y-coordinate. If P is

equidistant from 
then find the coordinates of

P.

Watch Video Solution

Q(2, − 5)andR( − 3, 6),

https://dl.doubtnut.com/l/_R8N7savRMc0B
https://dl.doubtnut.com/l/_CGeXCWMw96EF
https://dl.doubtnut.com/l/_nZidi5TMnxis


22. If 
 are the vertices of 
 then

verify the fact that a median of a triangle ABC divides it into two
triangles

of equal areas.

Watch Video Solution

A(4, − 6), B(3, − 2)andC(5, 2) ABC,

23. Three vertices of a parallelogram ABCD are


 Find the coordinates of vertiex

D and find the area of parallelogram
ABCD.

Watch Video Solution

A(3, − 4), B( − 1, − 3)andC( − 6, 2).

24. The base PQ of two equilateral triangles PQR and PQR’ with side 2a lies

along y-axis such that the mid-point of PQ is at the origin. Find the

coordinates of the vertices R and R’ of the triangles.

Watch Video Solution

https://dl.doubtnut.com/l/_eXTjWNUiTwFw
https://dl.doubtnut.com/l/_6EfNYSXNa21H
https://dl.doubtnut.com/l/_B15I8MzErCys
https://dl.doubtnut.com/l/_rfbgUMpQTXw0


25. Let ABCD be a square of side 2a. Find the coordinates of the vertices

of this square when (i) A coincides with the origin and AB and AD are

along
OX and OY respectively.
(ii) The centre of the square is at the origin

and coordinate axes are
parallel to the sides AB and AD respectively

Watch Video Solution

26. Find the coordinates of the vertices of an equilateral triangle of side

2a as shown in Figure.

Watch Video Solution

27. The area of the triangle formed by 

is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

(a, b + c), (b, c + a)and(c, a + b)

a + b + c abc (a + b + c)2 0

https://dl.doubtnut.com/l/_rfbgUMpQTXw0
https://dl.doubtnut.com/l/_FDt1gCekeVPQ
https://dl.doubtnut.com/l/_4esUGr0wKeoi


28. If the points 
are on the circle with centre 

find the value of 

Watch Video Solution

A(4, 3)andB(x, 5) O(2, 3),

x.

29. Find the equation of the perpendicular bisector of AB, where A and B

are the points (3,6) and ( 
 respectively. Also, find its points of

intersection with (i) x-axis (ii) y-axis.

Watch Video Solution

−3, 4)

30. If the point 
 is equidistant from the points 
 and 


, prove that 

Watch Video Solution

(x, y) (a + b, b − a)

(a − b, a + b) bx = ay

https://dl.doubtnut.com/l/_gntK2hMrjsPz
https://dl.doubtnut.com/l/_8EafpeDvWlXz
https://dl.doubtnut.com/l/_j88snJEBCf9Q


31. Find the distance between the points:
 
 and


and 
 
and 

Watch Video Solution

P ( − 6, 7) Q( − 1, − 5)

R(a + b, a − b) S(a − b − b) A(at12, 2at1) B(at22, 2at2)

32. Find the angle subtended at the origin by the line segment whose end

points are (0, 100) and (10 ,0)

Watch Video Solution

33. Prove that the points 
 do not form a

triangle.

Watch Video Solution

(2, 3), ( − 4, − 6)and(1, )
3

2

34. Show that the points  and 
 are

the vertices of a rhombus. Find the area of this rhombus.

( − 3, 2), ( − 5, − 5), (2, − 3) (4, 4)

https://dl.doubtnut.com/l/_QPFmHmxxDvBg
https://dl.doubtnut.com/l/_4WksAq9cjIkh
https://dl.doubtnut.com/l/_G94zx1EkduGx
https://dl.doubtnut.com/l/_rIr8DjRxdYrP


Watch Video Solution

35. Q.7 The two opposite vertices of a square are (l.-6)and (5,4). Find the

coordinates of the other two vertices.

Watch Video Solution

36. In an A.P,the sum of m terms of an AP is n and sum of n terms of AP is

m,then prove that sum of (m+n) terms of AP is-(m+n)

Watch Video Solution

37. In the seating arrangement of desks in a classroom three studens

Rohini, Sandhya and Bina are seated at 
 Do

you think they are seated in al line?

Watch Video Solution

A(3, 1), B(6, 4)andC(8, 6).

https://dl.doubtnut.com/l/_rIr8DjRxdYrP
https://dl.doubtnut.com/l/_8coTlUkLAnpG
https://dl.doubtnut.com/l/_QaKmHXOGUcBf
https://dl.doubtnut.com/l/_r0JHlT7dvgD9
https://dl.doubtnut.com/l/_lpyii07UYNd9


38. Find the coordinates of points which trisect the line segment joining

Watch Video Solution

(1, − 2)and( − 3, 4).

39. If the point 
 is equidistant from the points 


, find 
Also, find the length of AP.

Watch Video Solution

P (2, 2)

A( − 2, k)andB( − 2k, − 3) k.

40. In what ratio does the point 
 divide the line segment

joining the points 

Watch Video Solution

C( , )
3

5

11

5

A(3, 5)andB( − 3, − 2) ?

41. Find the ratio in which [the line segment joining


 is divided by the xaxis.
 Also find the

coordinates of the point of division.

A(1, \ 5)\ and\ B(4, \ 5)

https://dl.doubtnut.com/l/_lpyii07UYNd9
https://dl.doubtnut.com/l/_tXnMdF3XHKd1
https://dl.doubtnut.com/l/_s5trIpbHDeUm
https://dl.doubtnut.com/l/_3DkRx5oJl07V


Watch Video Solution

42. If 
prove that the points 
can never

be collinear.

Watch Video Solution

a ≠ b ≠ c, (a, a2), (b, b2), (c, c2)

43. A point 
divides the join of 
and 
in the ratio 
 .

Then the integral value of 
 for which the area of 
 where 
 is 


and 
is 
, is equal to 2 units in magnitude is___

Watch Video Solution

A P ( − 5, 1) Q(3, 5) k : 1

k ABC, B

(1, 5) C (7, − 2)

44. Prove that the mid-point of the hypotenuse of right angled triangle is

equidistant from its vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_3DkRx5oJl07V
https://dl.doubtnut.com/l/_MxdgGOPytD8h
https://dl.doubtnut.com/l/_dp2jNNCkK8Sg
https://dl.doubtnut.com/l/_qepRPzbTYhAh
https://dl.doubtnut.com/l/_uP14yPcFuTnH


45. Show that the points 
and 
are collinear.

Watch Video Solution

(1, − 1), (5, 2) (9, 5)

46. Prove that the diagonals of a rectangle bisect each other and are

equal.

Watch Video Solution

47. Using analytical geometry, prove that the diagonals of a rhombus are

perpendicular to each other.

Watch Video Solution

48. Find
 the area of the triangle whose vertices are

Watch Video Solution

(i)   (2, 3), \ ( − 1, 0), \ (2, \ − 4)         (ii)( − 5, − 1), \ (3, − 5), \ (

https://dl.doubtnut.com/l/_uP14yPcFuTnH
https://dl.doubtnut.com/l/_NfOeZ1aXUhkF
https://dl.doubtnut.com/l/_0pKH2lZZXkzs
https://dl.doubtnut.com/l/_B3VFc7HK2yUg


49. If the vertices of a triangle have rational
coordinates, then prove that

the triangle cannot be equilateral.

Watch Video Solution

50. Find the area of the triangle ABC with 
 and mid-points of

sides through A being 

Watch Video Solution

A(1, − 4)

(2, − 1)and(0, − 1).

51. If 
 is any point on the line joining the point 


then show that 

Watch Video Solution

P (x, y)

A(a, 0)andB(0, b), + = 1.
x

a

y

b

52. If the line segment joining the points 
 is trisected

at points 
 Then,
 
 (b) 

(3, − 4), and(1, 2)

P (a, − 2)andQ( , b).
5

3
a = , b =

8

3

2

3

https://dl.doubtnut.com/l/_0NOSxNruy82o
https://dl.doubtnut.com/l/_heqyKItrtiky
https://dl.doubtnut.com/l/_3Bd4Rze3Yqzc
https://dl.doubtnut.com/l/_xIH3Mq7XMigy



 
(d) 

Watch Video Solution

a = , b = 0
7
3

a = , b = 1
1

3
a = , b =

2

3

1

3

53. If the point 
 lies on a circle whose centre is at the origin and

radius is 5, then 
 
(b) 
(c) 
(d) 

Watch Video Solution

(x, 4)

x = ±5 ±3 0 14

54. If three points 
 lie on the same line, prove

that


Watch Video Solution

(x1, y1), (x2, y2), (x3, y3)

+ + = 0
y1 − y3

x2x3

y3 − y1

x3x1

y1 − y2

x1x2

55. lf G be the centroid of a triangle ABC and P be any other point in the

plane prove that 

Watch Video Solution

PA2 + PB2 + PC 2 = GA2 + GB2 + GC 2 + 3GP 2

https://dl.doubtnut.com/l/_xIH3Mq7XMigy
https://dl.doubtnut.com/l/_DNxEsP10wYDT
https://dl.doubtnut.com/l/_ZCEAClPhxtfB
https://dl.doubtnut.com/l/_W5p3Vieur00g
https://dl.doubtnut.com/l/_MThr9a0YtMY6


56. The distance between the points


 is
 
 (b) 


(d) 

Watch Video Solution

(a cos θ + b sin θ, 0)and(0, a sin θ − b cos θ) a2 + b2 a + b a2 − b2

√a2 + b2

57. Two vertices of a triangle are 
 If its centroid is 


find the third vertiex.

Watch Video Solution

(3, − 5)and( − 7, 4).

(2, − 1),

58. If 
 are the vertices of right angles

triangle with 
then find the value of 

Watch Video Solution

A(5, 2), B(2, − 2)andC( − 2, t)

∠B = 900, t.

https://dl.doubtnut.com/l/_MThr9a0YtMY6
https://dl.doubtnut.com/l/_JIw4eHEeSd4c
https://dl.doubtnut.com/l/_eknyI3Mgcixr


59. The length of a line segment is of 10 units and the coordinates of one

end-point are 
 If the abscissa of the other end is 10, find the

ordinate of the other
end.

Watch Video Solution

(2, − 3).

60. Find the coordinates of the circumcentre of the triangle whose

vertices
are  and 
Also, find its circum-radius.

Watch Video Solution

(6, 6), (8, − 2) (2, 2)

61. Let the opposite angular points of a square be 
 .

Find the coordinates of the remaining angular points.

Watch Video Solution

(3, 4)and(1, − 1)

https://dl.doubtnut.com/l/_MGt8Rn6z2t53
https://dl.doubtnut.com/l/_rFUQkVu8wo2w
https://dl.doubtnut.com/l/_0ywi6SowW58n


62. Show that 
 are the vertices of an

isosceles triangle. Also, find the length of the
median through A.

Watch Video Solution

A(6, 4), B(5, − 2) and C(7, − 2)

63. Points 
and 
 lie on a circle with centre 

Find the values of 
Hence, find the radius of the circle.

Watch Video Solution

A( − 1, y) B(5, 7) O(2, − 3y).

y.

64. Show that the points 
and 
are collinear.

Watch Video Solution

(1, − 1), (5, 2) (9, 5)

65. Show that four points 
 are the

vertices of a rectangle. Also, find its area.

Watch Video Solution

(0, − 1), (6, 7), ( − 2, 3)and(8, 3)

https://dl.doubtnut.com/l/_6EfFAko7QYlJ
https://dl.doubtnut.com/l/_xj3cNlR8aU35
https://dl.doubtnut.com/l/_r6YAaVWt9i2c
https://dl.doubtnut.com/l/_zO411B8ZfgB9


66. If P and Q are two points whose coordinates are


 respectively and S is the point (a,0). Show that 


is independent of t.

Watch Video Solution

(at2, 2at)and( , )
a

t2

2a

t

+
1

SP

1

sQ

67. If the two vertices of an equilateral triangle be 
 find

the third vertex.

Watch Video Solution

(0, 0), (3, √3),

68. Find the
 coordinates of the points which divides the line segment

joining the points 
and 
in the
ratio 
internally.

Watch Video Solution

(6,  3) ( − 4,  5) 3  : 2

https://dl.doubtnut.com/l/_zO411B8ZfgB9
https://dl.doubtnut.com/l/_gRt4z64Q1hsz
https://dl.doubtnut.com/l/_XZFVSaoS99Ak
https://dl.doubtnut.com/l/_dTpN9Mm2Bj0s


69. If a vertex
 of a triangle be 
 and the
 middle points of the sides

through it be 
and 
, find the
other vertices.

Watch Video Solution

(1,  1)

( − 2,  3) (5,  2)

70. 
 and 
 are the
 vertices of 
 . Find the

coordinates of the points 
on median 
such that 

A. Q=

B. Q=

C. Q=

D. Q=

Answer: A

Watch Video Solution

A(4,  2),  B(6, 5) C(1,  4) ABC

Q BE BQ :QE = 2: 1

( , )
11

3

11

3

( , )
10

3

11

3

( , )
11

3

10

3

( , )
10

3

10

3

https://dl.doubtnut.com/l/_7yKY7fSOelbR
https://dl.doubtnut.com/l/_IfL2hOUVxOgL

